If the lorikeets in the “Lorikeet Landing” at the Oregon Zoo were living

the wild,a vast majority of them would be living in AMV@I/{/W
Australia’s average temperature ranges from 86 o~ 1 O0r F

with an average yearly rainfall of 1 7 m
But they don’t. They live in P()Vda/n,d/

Portland’s average temperature is 620 F

with an average yearly rainfall of 3 7 W
A change like that can be quite StV%Ké/fM]/

So how do they cope?

Many parrots in captivity obsessively groom, or Fwﬁ\e/i" ?ZM/C]O

How does weather effect
lorikeety grooming habity?

Learning at

'orikeet

dlng

R Raivv Go-Away...

¢



11118 | Dividing Up the

1. Record weather
conditions

2. Record number
of birds total and
number of humans
3. Start recording!




Activity Outisde

Location of Birds During Sun Location of Birds During Rain Activity Inside




What this
eany

How does weather effect location?
How does location effect behavior?

How can this be improved?

What are the Where do we go from
Proble/m/y? ’ Hew?

Indonesia vs. Australia

Birds Forced Outside Effect of visitors on birds
People Age of birds and behavior
Field Work is Hard Pair Grooming

What activity is beneficial

Individual birds
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